Pre-Algebra B

Solutions to WS 27.1 - Slope, #1-27 odd

Find the slope of eacls liag,
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Find the slope oF the lie et contaias ench paic oF prinds

[(»pe Bemo o' M= ,}_‘/tl

® (32) ad (1,5) @(3 -2) aad (<1, 3) e e
m= (P-(5) |4 :E LCA-0G) _{=5-|| TeNTIoNALLY
(- & ' (2) =N \:“ | LepT 8K
O30 wi (4,-2) [ (5.0 38 |@B(33) and (-1,0)
g 0)-C _3. _ a4 fu)  @-0)
(s\ - @-a) 5|5 Co=&)
Positive Slope ’ Nqa'hvc Slope { Nicther ! o
25, : 2z, Nerthee.
; i W“;-}::; 1ol Taes Vectiaal lines
: ol sluge.
le slyge D. | LMVQ undebined sl




